TAKES ... LINEAR INEQUALITIES Justiaths

(a) -1,0,1,2.3 2 B2 for all 5 correct values; ignore
repeats, any order

(B1 for 4 correct (and no incorrect
values) eg. 0, 1, 2, 3 or one additional
value, eg—1,0, 1,2, 3, 4)

(b) -4<x23 2
B2for-4<x=3or>-4and=3
(Bifor-4=<yorx>-4orx=3or3z=
X
or=—dorz3or-4=<y=<3)
) |3y-2>5 }':b_":f%, 2 (NB Accept the use of any letter)
3y >7

M1 for clear intention to add 2 to both
sides (of inequality or equation) or clear
intention to divide all terms by 3
or3y=T7or3y<7ordy=7

Al y>Tlaory>2"0ry>23

NB. final answer must be an inequality

(SC B1 for 74 oe seen if MO scored)

B2 for fully correct solution with all three aspects with no
ambiguity

Aspect 1: circle at 3

Aspect 2: circle not shaded

Aspect 3: arrow pointing left indicating extension beyond
—4 or line extending beyond —4

(B1 for any two aspects)

(b) x=5 2 M1 for intention to add 7 to both sides (of nequality or
equation) or to divide all 3 terms by 4 as a first step. or (x
Al forx 25 oe
Q3.
(a) —4, —3, -2, 2 B2 for all 5 correct values; ignore repeats, any order
-1.0 (B1 for 4 correct (and no mncorrect) values or all 5
correct values and —5)

(b) x> 44 2 M1 for an attempt to expand brackets (eg 6xx —
6%2) or 6x — 12 or for an mtention to divide both
sides by 6 as the first step or for 442 oe seen
Al for x> 4% oe

Q4.
x> 4 3 M13x=11or3x=16-50r3x+5-5
x= 14 0r 366 »16-5
OR A1 14 0r36(66.)or3a7
(16 — 5) =3 (Accept = or = in place of »)
4 or 3.66. B1 ft
OR
M1 (16 — 5) =3
A1 4 or3.6(66.. yor 3.7
B1ft




(®)

Ml

Al

M1

M1

Al

fora meth to iolae s inn
in any inequality or equation
egldn—1ln =6orn=2

cao

for 2-3 <x<4-3 (-5<x=

D

for drawing a line from —5to 1
or (indep) for an open circle at
either -2 or -5

or (indep) for a closed circle at 4
orl

cao

Ignore t ineqty ign and
accept =" sign
A circle around —5 and 1 implies M1

A line from -5 to 1 implies M2 if no
working shown

JustMaths



